AGREEMENT FORM FOR POLITICAL CANDIDATE ADVERTISEMENTS

(check applicabl FEDER	e box) RAL CANDIDAT	î E	⊠ STAT	E/LOCAL CAN	NDIDATE
	ail Themselves w, Federal Cand			_	
Station and	d Location:			Date:	
being/on behalf qualified candid party for the off in the election to be h	of: SCOTT W State of the Sice of: BOONE PRIMARY eld on: G/2 sest station time as follows	COUNTY ELISCTION 8/2022	BODAIE (OU AN SHIRIFI	<u>.</u>	political
Broadcast Length	Time of Day, Rotation or Package	Days	Class	Times per Week	Number of Weeks
512	a Hached—				
Total Char	ges: 5/1	atache	d		

•	e name of the legal ght and the date(s)			mming refers to, the
For programming the importance," attach			to any political r	natter of national
I represent that the	payment for the ab	ove described broa	dcast time has be	en furnished by:
The names, offices, agents of the entity	a committee; and addresses of the are named below (1)	an association as chief executive of may be attached se	n; or other unofficers, directors parately):	unincorporated group.
OF RACE OR ETHN I agree to indemnify a reasonable attorney's f advertisement(s). For transcript, or tape, w before the time of the	nd hold harmless the fees, that may ensue the above-stated be hich will be delive	ne station for any de from the broadcastoroadcast(s), I als red to the station	amages or liabilit st of the above-re o agree to prepa	quested
TO	BE SIGNED	BY ISSUE	ADVERTIS	E R
6/18/2022 Date	Just Jong	e	815 g	788 /034
TO	BE SIGNED E			
Accepted Median Signat	lo Cal	Accepted in Michael f Printed Nam	Part A LUSM	Rejected President Title

For programming that, in whole or in parational importance," list the matters be		nicates a m	essage r	elating to	any polit	ical matter of
I represent that the payment for the abo	ove described	broadcast	time ha	s been fur	nished by	r:
Cimment					=	
and you are authorized to announce the I represent that this person or entity is e committee/organization of the legally q	ither a legall	y qualified	-	•		
The name of the treasurer of the candid	ate's authoriz	zed commi	ttee is:			
JAMÁS V TWYNI.	46					
This station has disclosed to me its poli and discount, promotional and other sal						sses and rates;
THIS STATION DOES NOT DISCR OF RACE OR ETHNICITY IN THE					TION O	N THE BASIS
To Be Signed By Car	ndidate	or Auti	horiz	ed Cor	nmitte	ee
6/18/2022						
Date	1	S	ghature			
To Be Signed	By Stati	on Rep	rese	ntative	•	
Accepted	☐ Acce	epted in P	art		[Rejected
Mich Signature Office.	Micha	ul Pal	Ušen	_	Prish	In }

MID-WEST FAMILY BROADCASTING ROCKFORD 2830 SANDY HOLLOW RD ROCKFORD, IL 61109

Client:

SCOTT YUNK FOR BOONE COUNTY SHERIFF

Order #:

3027-00002 (PN 20220621.1)

Description

2022 IL PRIMARY ELECTION - JUNE 28TH, 2022 - POLITICAL

Date Entered:

P.O.# Salesperson: 6/21/2022 Koch, Bill

Invoice Frequency. Billed at end of Cat/EOS, Sorted by Date

SCOTT YUNK FOR BOONE COUNTY SHERIFF H\$H PONY LANE BELVIDERE, IL 61008

On-Air Schedule

Start Date	End Date Station	Scheduled Time Event	Repeated	Length	$\overline{\Omega}P$	Rate	Total	M	Ta	W	11	F	Sa	Su
+1 5/27/2022	6/27/2022 WRTB-FM	05:00:00a to 07:00:00p	CUSTOM	:30	12	12.00	144.00	٧	N	N	N	N	N	N
6/27/2022	6/27/2022				12	12.00	144.00	12	0	0	0	0	0	a
+2 6/28/2022	6/26/2022 WRTB-FM	05:00,00a to 10:00:00a	CUSTOM	:30	3	12.00	36.00	N	Y	N	N	N	N	N
6/28/2022	6/28/2022				3	12 00	36 00	0	3	0	0	0	9	0

Order Start Date: 6/27/2022

Order End Date: 6/28/2022

Spots: 15

Total Charges:

\$180.00

Combined Discounts:

\$27.00

Total Net:

\$153.00

This station does not discriminate in the sale of advertising time, and will accept no advertising that is placed with an intent to discriminate on the basis of race or ethnicity. Advertiser hereby certifies that it is not buying broadcasting air time under this advertising sales contract for a discriminatory purpose, including but not limited to decisions not to place advertising on particular stations on the basis of race, national origin, or ancestry

				OUNTY SHERIFF / 3027-	00002
		Spot Court	Gross Billing	Combined Disc	Net Billing
June	2022	15	\$180.00	\$27.00	\$153,00

Confirmed & Accepted for MID-WEST FAMILY BROADCASTING ROCKFORD

Accepted for SCOTTY UNK FOR BOONE COUNTY SHERIFF By:

Please Sign and Return One Copy

MID-WEST FAMILY BROADCASTING ROCKFORD 2830 SANDY HOLLOW RD ROCKFORD, IL 61109

Client:

SCOTT YUNK FOR BOONE COUNTY SHERIFF

Order #:

3027-00002-3

Description:

2022 IL PRIMARY ELECTION - JUNE 28TH, 2022 - POLITIC

Date Entered:

6/21/2022

P.O.#: Salesperson:

Koch, Bill

Invoice Frequency: Billed at end of Cal/EOS, Sorted by Date

SCOTT YUNK FOR BOONE COUNTY SHERIFF 11811 PONY LANE BELVIDERE, IL 61008

On-Air Schedule

9	Start Date	End Date	Station	Cohodulad Time (Co.	D											
				Scheduled Time/Event	<u>Repeated</u>	<u>Length</u>	Qty	Rate	Total	M	Tu	W	Th	F	Sa	Su
1	6/27/2022	6/27/2022	WRTB-FM	05:00:00a to 07:00:00p	CUSTOM	:30	12	12.00	144.00	~	N	N	N	N	N	N
	6/27/2022	6/27/20	022				12	12.00	144.00	12	0	0	0	0		0
2	6/28/2022	6/28/2022	WRTB-FM	05:00:00a to 10:00:00a	01107011				744.00	12		v	U	U	U	U
-				05.00:00a to 10:00:00a	CUSTOM	:30	3	12.00	36.00	N	Υ	N	N	N	N	N
	6/28/2022	6/28/20	022				3	12.00	36.00	0	3	0	0	0	0	0

Order Start Date: 6/27/2022

Order End Date: 6/28/2022

Spots: 15

Total Charges:

\$180.00

Combined Discounts:

\$27.00

Total Net:

\$153.00

This station does not discriminate in the sale of advertising time, and will accept no advertising that is placed with an intent to discriminate on the basis of race or ethnicity. Advertiser hereby certifies that it is not buying broadcasting air time under this advertising sales contract for a discriminatory purpose, including but not limited to decisions not to place advertising on particular stations on the basis of race, national origin, or ancestry.

Projected Calendar Mo	onth/End-Of-Sched	ule Billing Totals for SCOTT Y	UNK FOR BOOM	IE COUNTY SHERII	FF / 3027-00002-3 :
June	2022	Spot Count 15	Gross Billing \$180.00	Combined Disc. \$27.00	<u>Net Billing</u> \$153.00

Confirmed & Accepted for MID-WEST FAMILY BROADCASTING ROC

Accepted for SCOTT YUNK FOR BOONE COUNTY SHERIFF By: